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1. WHAT’S CONCURRENT MODE

This feature registers 2 wireless network devices in OS (wlan0, wlan1) and those

two interfaces share the same hardware device.

This feature allows performing 2 separate wireless tasks at the same tia w th
single hardware device.

For example:

The system can perform stat;h m de to onnect wth a1 R raute ad acess
internet, at the same tim, itd 0 mrfam the @p onnectin wit hamt her pd
device and get the resource of this p2p device.

Note: Realtek wifiml y support 3 oncur rent onb i ratin
1. Statim mde +%ation na e
2. Statm mmde + 2 mde
3. Statm mde + PP mde



2. HOW TO ENABLE CONCURRENT MODE

In Realtek wifidiver source mde fd cbr, ai t
“autoconf_<chip>_usb/sdio/pci_linux.h” to enable the defii tin of
“CONFIG_CONCURRENT_MODE", If there is no such fle di t the

include/autoconf.h, then rebuild and insmod the driver, done.

You can verify if it works by typing “ifconfg -2” ©mma nd, It is supposed to show
two wireless interfaces, and MAC address of secondary interface is nearly the

same except the bitl of byte0 was assigned as 1.

92 8188CU_linux
8188CU linux_ vé4.
Hwaddr 90:

X pe
ollision

:1258 (1.2 KiB)

wlanl

calhost rtl8192 8188CU_linux_vé4.

Base on the past experiences, we recommend our clients to verify whole system
steps by steps —fist check datin mal e, tten cleck AP nwl e, fidl y £din +

AP mode (concurrent mode).

I Please reference “wpa_cli_ with_wpa_supplicant.pdf’ to understand how to
runin statm ra de, “ Quick Start Guide_for_Station_Mode.pdf” is also a
good choice.

I  Please reference “Quick_Start_Guide_for_SoftAPpdf’ to understand how to
run in AP mode.



3. PORTING CONCURRENT MODE IN ANDROID

FRAMEWORK.

You can read the “readme.txt” in Realtek softea re K fd cbr for are
portig/testig i Hormati on

For example:

If the target system is Android JB, it will indicate you to follow the steps of
“Realtek_Wi-Fi_SDK_for_Android_]B.pdf”, you can easily accomplish the portig
task.

Atentim Te caocurrent achteture starts at AdroidJB o dde vesion yu
need to modify the Android framework by yourself.

4. Q&A

Q1: Why does the system stil'las/ml'y me iterface dter innod the rduil dng
module?
A: Please make sure you edit the correct autoconf.h and insmod the correct module,

andalso provide yourautoconf.h and kernel message log to us.

Q2: Everythingisfre aen | ol y sart lostapd, lut waen | s¢art nnni g a satin
mode in anotherinterface in the same tim, the lostapd W Il d sconnect far a
second then be reconnected again, however ,the channel is diffr fran kefae
settg Isaryt hing wo rg?

A: Don’t worry, itis fre! A | rantin bd ore, thse tw wir des inerfaces adud |y
share the same physical hardware device. That means those 2 wireless interfaces
must work under the same channel. Our rule is AP/P2P interface should follow the
channel of statin inerface, ifwth inefae ae nnni g dation nal e, the
connected APs MUST be the same channel.



Q3: How is the throughput in 2 wireless interfaces in concurrent mode?

A: Because there is only one physical hardware device, the two wireless interface
(wlan0, wlanl) will share the transmit bandwidth,

for example:

Assume the throughput limitatcn ¢ arrent ewirmne nt is &M /s, then the
throughput of wlan0 + the throughput of wlan1l is basically equal or smaller than
85Mb/s.

Q4: Which wireless interface can run in statin ma de? xe an
run in AP mode?
A: We recommend that run statin a de in W a0,



